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Diff03 for No.9012

I=(fx)=(7x+6)") .2:(f(x):(2x3+2x+11)4)

3=(f(x)=+/5x-4) .4=(f@):ﬁ}
-

No0l = 1 1
S=|f(x)= .6:(f(x):—j
5
(3x°+4x-4) V3-5x
5 (7x-3)
T=(fx)=(Tx-3) 2x+7)  8=|fx)=—7
L (2x+7) J
No2 : k = 4 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | 8 | -2 | -7 | [ 11 -3 | -6 | 5 | 0 |
| =5 | 5 6 | -3 | -6 | [ 2 | -2 | -8 | 4 | 1
[ -4 | 6 | 4 | -4 | -5 | [ 31 -1 | -10 | 3 | 2 |
[ -3 | 7| 2 | -5 | -4 | [ 4] 0 | -12 | 2| 3
[ -2 | -6 | 0 | -6 | -3 | [ 5 1 -14 | 1] 4 |
[ -1 -5 | -2 | 7 -2 | [ 6 | 2 | -16 | 0 | 5 |
[0 | -4 | -4 | 6 | -1 | 7 3 -18 | -1 | 6
No3 : k = 5 ======= e ———— S
| x | -8 -7 -6 -51 -4 ] -3 -2 1 -1 0 |
| g(x) | -1 0 | 1] 2 | 3 4 5 | 6 | T
[ g'(x) | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 8 | °!1 -8 -71 -6 | -5 -4 | -3 | -2 |
[ g'(x) | 0 | -2 | -4 | -0 | -8 | =10 | =12 | =14 | -16 |
77
No04 = x(t)=5+t2,P(x)=6f—5,k=4
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Diff03 for No.9016

4
d=(fx)=(4x-5)") 2=(f(x)=2x+2x+9))
1
3=(f(x)=+/5x-2) .4:(f(x):3—J
3x7+2
No0l = 1 1
S=flx)= p .6:(f(x):—j
2x+2x+3) V3-Tx
5 (3x-4)
J=(f(x)=(3x-4)(5x-8))  .8=|f(x)= :
L (5x-38) i
No2 k = 4 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | 10 | 2 | -8 | [ 11 -3 | -4 | -5 | -1 |
| =5 | 3 8 | 3] =7 | |2 -4 | -6 | -4 | 0 |
[ -4 | 2 | 6 | 4 | -6 | [ 31 -5 | -8 | -3 | 1|
[ -3 | 1 4 | 5 | -5 | [ 4] -6 | -10 | -2 | 2|
[ -2 | 0 | 2 | 6 | -4 | [ 5 7| -12 | -1 3
[ -1 -1 | 0 | 7 -3 | [ 6 | 6 | -14 | 0 | 4 |
[0 | -2 | -2 | -6 | -2 | 7 5 | -16 | 1 5 |
No3 k = 5 ======= =========== ===============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
| gx) | -3 1 -2 -1 0 | 1 2 | 3 | 4 | 5
| g'(x) | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 6 | 7 8 | 1 -8 | -7 1 -6 1 -5 1 -4
[ g'(x) | 0 | 2 | 4 | 6 | 8 | 10 | 12 14 | 16 |
57
No04 = x(1) = — P(x)=4+4x ~7,k=4
+
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Diff03 for No.9018

5
d=(fx)=(2x+5)%) 2=(f(x)=4x =Tx+7))
1
3=(f(x)=4/7x-6) .4:(f(x):4—J
8x —7
No0Ol = 1 1
S=|fx)= y .6:(f(x):—j
(2x°-3x-3) VI-Tx
; (6x—7)
T=(f(x)=(6x-7) (5x+3)) .8=|f(x)= :
L (5x+3) i
No2 k = 6 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 -6 | 1] 10 | [ 1] -6 | 1] -6 | -4 |
| =5 | 2 | -5 | 0 | 8 | [ 2] -5 | 2 | 7 -6
[ -4 | 3 -4 | -1 6 | [ 31 -4 | 3 6 | -8 |
[ -3 | 4 | -3 | -2 | 4 | [ 4] -3 | 4 | 5 | -10 |
[ -2 | 5 | -2 | -3 | 2 | [ 5 -2 | 5 | 4 | -12 |
[ -1 6 | -1 | -4 | 0 | [ 6 | -1 | 6 | 3 | -14 |
[0 | 7| 0 | -5 | -2 | 7 0 | 7 2| -16
No3 : k = 6 ======= s========== s==============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
| gx) | -4 1 -3 1| -2 -1/ 0 | 1| 2 | 3 4
l g'(x) | -6 -5 -4 -3 1 -2 -1/ 0 | 1| 2 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 5 | 6 | 7 8 | 1 -8 -71 -6 1] -5
[ g'(x) | 3 4 | 5 | 6 | 7| 8 | 9 | 10 | 11 |
61
No04 = x(1) =" — P(x)=64x —5,k=7
+t
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Diff03 for No.9036

4
J=(f(x)=(4x+3)) 2=(f(x)=2x*+2x+5))
1
3=(f(x)=4/5-8x) .4=(f(x)=6—J
Tx +3
No0Ol = 1 1
S=|flx)= . .6:(f(x):—j
(22X +5x+5) V2Zx—7
A (7x-6)*
T=(fx)=(Tx-6)"(6x-5)) .8=|f(x)= ;
L (6x-95) i
No?2 k =5 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 | 4 | -2 | -10 | [ 11 6 | -3 5 | 4 |
| =5 | 0 | 3 -3 | -8 | [ 2 | 7 -4 | 4 | 6 |
[ -4 | 1 2 | -4 | -6 | [ 31 -6 | -5 | 3 | 8 |
[ -3 | 2 | 1| -5 | -4 | [ 4] -5 | -6 | 2| 10 |
[ -2 | 3 0 | -6 | -2 | [ 5 -4 | =7 1] 12 |
[ -1 4 | -1 | 7 0 | [ 6 | -3 | -8 | 0 | 14 |
[0 | 5 | -2 | 6 | 2 | 7 -2 | -9 | -1 | 16 |
No3 : k = 7 ======= e mmmmm————mm=ae
| x| -8 =71 =61 =5] -4 ] =3| -2 -1] 0|
| g(x) | =31 -2 -1 Ol 11 21 3] 4] 5|
lg'(x) | -8 | =71 =61 =51 -4 ] =3 ] -2 -1] 0|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 6 | 7 8 | 1 -8 | -7 1 -6 1 -5 1 -4
[ g'(x) | 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
37
No04=| x(1)="—  P(x)=44/x —3,k=38
+

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKXKKKKKKXXXXKKKKKKK KKK XXX KKK KKK KL KKK KKK KKK KKK KK KKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKXME6/1-6400507-00005XX
Diff03 for No.9037

d=(fx)=(5x+6)") .2=(ﬂx):(2x?+2x+7f)

3=(f(lx)=47-5x) .4=(f(x)=+]
3x +4

No0l = 1 1
S=|f(x)= .6:(ﬂx):——————j
4
B3P +7x+7) VTx-3
S (3x+5)
T=(fx)=(3x+5)(=5+8x)°) .8=|flx)= -
L (-5+8x)
No?2 k =5 === ====== === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | -3 | 5 0 | -12 | [ 11 4 | -2 7 2 |
[ =5 | -4 | 4 | 1| -10 | [ 2] 3 -3 | -6 | 4 |
[ -4 | -5 | 3 2 | -8 | [ 3 2 | -4 | -5 | 6
[ =3 1 -6 | 2 | 3 | -6 | [ 4 ] 1| -5 | -4 | 8 |
[ -2 T 1| 4 | -4 | [ 5] 0 | -6 | -3 | 10 |
[ -1 1 6 | 0 | 5 | -2 | [ 6 ] -1 | -7 | -2 | 12 |
[ 0| 5 | -1 | 6 | 0 | [ 7 -2 | -8 | -1 | 14 |
No3 : k = 2 ======= e mmmmm————mm=ae
| x| -8 =71 =61 =5] -4 ] =3| -2 -1] 0|
| g(x) | =31 -2 -1 Ol 11 21 3] 4] 5|
lg'x) | 71 61 51 41 31 21 11 0] -1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 6 | 7 8 | 91 -8 1| -71 -61 =51 -4 |
lg'(x) | -2 =31 -4 -51 -6 1] =71 =81 9 | -10 |
87
No04 = x(1)=——, P(x) = 64/x — 13, k=3
2+t
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Diff03 for No.9138

3
d=(flx)=3x-28)%) 2=(f(x)=3x=7x=-17))
1
3=(f(x)=+/5-7x) .4=(f(x)=4—J
S5x -2
No0Ol = 1 1
S=|fx)= ; .6:(f(x):—j
(3x +4x—4) V3-Tx
S (3x-5)
J=(f(x)=3x-5)(5x+7)) .8=|f(x)= :
L (5x+7) ]
No2 : k = 2 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -2 | -8 | 1] T [ 1] 5 | 6 | -6 | 0 |
| =5 | -3 | -6 | 2 6 | | 2 4 | 8 | -5 | -1 |
[ -4 | -4 | -4 | 3 | 5 | [ 31 3 10 | -4 | -2 |
[ -3 | -5 | -2 | 4 | 4 | [ 4] 2 | 12 | -3 | -3 |
[ -2 | -6 | 0 | 5 | 3 [ 5 1 14 | -2 | -4 |
[ -1 7| 2 | 6 | 2 | [ 6 | 0 | 16 | -1 | -5 |
[0 | 6 | 4 | 7 1 7 -1 | 18 | 0 | -6
No3 : k = 8 ======= s========== s==============
| x | =81 =71 -6 =51 4 1 -3 | -2 1| -1 | 0 |
[ g((x) | 4 | 3 2 1| ol -1 =21 =31 -4
I g'(x) | 9 | 8 | 7 6 | 5 | 4 | 3 2 | 1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -5 -6 1| -7 1 -8/ 9 | 8 | 7 6 | 5 |
[ g'(x) | ol -1 -2 =31 -4 -51 -6/ 71 -8 |
57
No04=| x(1)=" — P(x)=24/x —3,k=8
+t
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Diff03 for No.9602

d=(f(x)=(2x-5)"" .2:(ﬂx)=(3x?+7x+7f)

3=(f(x)=43x-7) -4=(ﬁﬂ=‘_}_J
3x +2

No0l = 1 1
S=|f(x)= .6:(ﬂx):———————j
6
(4x =5x-5) V345
A 3x+5)
J=f(x)=3x+5)"(5x+2)) 8=|f(x)= :
L (5x+2) ]
No2 : k = 2 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | -6 | 0 | 8 | [ 1] -3 | 1] 7 -6
| =5 | 3 -5 | 1] 6 | |2 | -4 | 2 -6 | -8 |
[ -4 | 2 | -4 | 2 | 4 | [ 31 -5 | 3 -5 | -10 |
[ -3 | 1 -3 | 3 2 | [ 4] -6 | 4 | -4 | -12 |
[ -2 | 0 | -2 | 4 | 0 | [ 5 7| 5 | -3 | -14 |
[ -1 -1 | -1 | 5 | -2 | [ 6 | 6 | 6 | -2 | -16
[0 | -2 | 0 | 6 | -4 | 7 5 | 7 -1 | -18 |
No3 : k = 2 ======= s========== s==============
| x | =81 =71 -6 =51 4 1 -3 | -2 1| -1 | 0 |
| gx) | -4 1 -3 1| -2 -1/ 0 | 1| 2 | 3 4
| g'(x) | 14 | 12 | 10 | 8 | 6 | 4 | 2 | o1 -2
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 5 | 6 | 7 8 | 1 -8 -71 -6 1] -5
[ g'(x) | -4 | -6 | -8 | =10 | =12 | =14 | -16 | =18 | =20 |
44
No04 = x(t)=——, P(x) = 84/x — 11, k=8
5+¢
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Diff03 for No.9616

5
d=(f(x)=(5x-4)"" 2=(f(x)=3xX+7x+7))
1
3=(f(x)=+3x-2) .4=(f(x)=7—J
5x -8
No0l = 1 1
S=|fx)= - .6:(f(x):—j
2 +2x+7) V8=5x
S (5x—6)
T=(f(x)=(5x-6)(4x-7))  .8=|f(x)= :
L (4x-17) J
No2 : k = 2 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 -8 | 2| 14 | [ 1] -6 | -1 -5 | 0 |
[ =51 2 | -7 | 1] 12 | [ 2] -5 | 0 | -6 | -2 |
[ -4 | 3 -6 | 0 | 10 | [ 31 -4 | 1 | 7 -4 |
[ -3 | 4 | -5 | -1 8 | [ 4] -3 | 2 | 6 | -6
[ -2 | 5 | -4 | -2 | 6 | [ 5 -2 | 3 5 | -8 |
[ -1 6 | -3 | -3 | 4 | [ 6 | -1 | 4 | 4 | -10 |
[0 | 7| -2 | -4 | 2 | 7 0 | 5 | 3 -12 |
No3 : k = 3 ======= s========== s==============
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) | =21 -1 ol 11 21 31 41 51 6|
lg'x 1 71 61 51 41 31 21 11 0] -1]
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 7| 8 | S| -8 -71 -6 1 -5 -4 ] -3 |
lg'(x) I -2 1 -3 -4 1] -5 -6 -71 -89 9 | -10 |
87
No04=| x(1)=— — P(x)=8+x — 11, k=2
+
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Diff03 for No.10152

6
d=(fx)=(6x+5)") 2=(fx)=2x+7x-17))
1
3=(f(x)=42x-5) .4:(f(x)=—3 J
8x +5
No0Ol = 1 1
S=flx)= - .6:(f(x):—j
(2 +2x+3) VS —4x
S (7Tx—4)
T=(f(x)=(Tx-4)(2x-3)")  .8=|f(x)= ;
L (2x-3) J
No2 k = 5 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| =61 -3 81 -1 -16 | |1 4| 1| 61 -2 |
| =51 -4 7 0| -14 | |2 3 | 0 | 7 0 |
| =41 -5 | 6 | 1] -12 | |3 21 -1 -6 2 |
| =31 -6 | 5 | 2 1 -10 | |4 11 -21 -5 4 |
| -2 | 7 4 | 31 -8 |5 ol =31 -4 6 |
| -1 | 6 | 3 | 41 -6 61 -1 -4 -3 8 |
|0 5 | 2 | 51 -4 71 -2 =51 -2 10 |
No3 : k = 2 ======= =========== s==s===s=======
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
| gx) | -3 1 -2 -1 0 | 1 2 | 3 | 4 | 5
| g'(x) | =14 | =12 | =10 | -8 | -6 | -4 | =2 | 0 | 2|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 6 | 7 8 | 9 1 -8 | 71 -6 -5 1| -4 |
[ g'(x) | 4 | o | 8 | 10 | 12 | 14 | 16 | 18 | 20 |
37
No0d=| x(1) =", — P(x)=2+4x — 11,k=8
+
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Diff03 for No.11738

3
d=(fx)=(-5+8x)") 2=(fx)=(2x*+3x-3))
1
3=(f(x)=47x-2) .4=(f(x)=3—J
8x =7
No0l = 1 1
S=|fx)= y .6:(f(x):—j
2x+2x+3) VS —2x
S (5x+8)
T=(f(x)=(5x+8)  (4x+7)) .8=|f(x)= :
L (4x+7) ]
No2 k = 4 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| =61 -2 | 41 -2 -12 | |1 51 -3 5 2 |
| =51 =3 31 -1 -10 | |2 41 -4 6 | 4 |
| =41 -4 2 | ol -8 | |3 31 -5 7 6 |
| =31 -5 | 1 11 -6 |4 21 -61 -6 | 8 |
=21 -6 | 0 | 2 1 -4 |5 11 =71 =51 10 |
| -1 | 70 -1 31 -2 |6 | ol =81 -4 12|
|0 61 -2 | 4 | 0 | 70 -1 -9 =31 14
No3 : k = 3 ======= s========== s==============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 0 | 1| 2 3 4 | 5 6 | T 8 |
| g'(x) | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 1 -8 | -7 -6 -5 -4 ] -3 | -2 | -1 |
[ g'(x) | 0 | 2 | 4 | 6 | 8 | 10 | 12 14 | 16 |
27
No04=| x(1)=" — P(x)=4+4x —9,k=5
+
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4
I=(f(x)=(Tx-3)") 2=(fx)=(2x*+2x+9) )
1
3=(f(x)=43-5x) .4=(f(x)=—4 J
5x —8
No0Ol = 1 1
S=|f(x)= ; .6:(f(x):—j
(35 =5x+5) VT-8x
S (3x—4)
T=(fx)=3x-4"(7x+8))  .8=|f(x)= -
L (7x+38) ]
No2 : k = 6 === e === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | 0 | -8 | 0 | 8 | [ 11 7 -1 7 -6 |
| =5 | -1 | -7 | 1| 6 | [ 2] 6 | 0 | -6 | -8 |
[ -4 | -2 | -6 | 2 | 4 | [ 3 5 | 1 | -5 | -10 |
[ =3 1 -3 | -5 | 3 | 2 | [ 4 ] 4 | 2 | -4 | -12 |
[ -2 -4 | -4 | 4 | 0 | [ 5] 3 3 -3 | -14 |
[ -1 1 -5 | -3 | 5 | -2 | [ 6 ] 2 | 4 | -2 | -16 |
[ 0| -6 | -2 | 6 | -4 | [ 7 1| 5 | -1 | -18 |
No3 : k = 2 ======= e mmmmm————mm=ae
| x| -8 =71 =61 =51 -4 ] =3| -2 -1] 0|
| g(x) 1 -1 01 1 21 31 41 51 6] 7|
| g'(x) | <14 | <12 | <10 | -8 | -6 | -4 | -2 0| 2|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 8 | o1 -8 | -7 1 -6 51 -4 -3 -2
[ g'(x) | 4 | o | 8 | 10 | 12 | 14 | 16 | 18 | 20 |
27
No04 =| x(1)="— — P(x)=2+4x ~3,k=6
+
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Diff03 for No.11841

d=(f(x)=(=3+5x)" .2=(f(x)=(3x2+4x—4)4)

3=(f(x)=4/2x-3) 4:(@):%}
Kl

No0l = 1 1
S=|flx)= .6:(f(x):—j
3
(22X +2x+5) NT-3x
S (8x—3)
J=(fx)=(8x-3) (Tx+8))  8=|flx)=— 2
L (7x+38) ]
No2 : k = 2 === e === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 | 8 | 3 | -14 | [ 11 6 | 1| -4 | 0 |
[ =51 -2 | 7 4 | -12 | [ 2] 5 | 0 | -3 | 2 |
[ -4 | -3 | 6 | 5 | -10 | [ 31 4 | -1 | -2 | 4 |
[ -3 | -4 | 5 | 6 | -8 | [ 4] 3 -2 | -1 6
[ -2 | -5 | 4 | 7 -6 | [ 5] 2 | -3 0 | 8 |
[ -1 -6 | 3 -6 | -4 | [ 6 | 1 -4 | 1 10 |
[0 | 7| 2 | -5 | -2 | 7 0 | -5 | 2| 12 |
No3 : k = 6 ======= e e
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 2 | 3 4 | 5 | 6 | 7 8 | 9 1 -8 |
[ g'(x) | 9 | 8 | 7 6 | 5 | 4 | 3 2 | 1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -71 -6 | -5 -4 1 -3 -2 1] -1/ 0 | 1|
[ g'(x) | ol -1 -2 =31 -4 -51 -6/ 71 -8 |
37
No04 = x() ==, P(x) = 84/x — 13, k=38
6+t
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Diff03 for No.11842

I=(fx)=B3x-7)"") .2:(f(x):(2x2—3x—3)7)

3=(f(x)=4-7+8x) .4=(ﬂx)=——;——]
8x +7

No0I = 1 1
S=|f(x)= .6:(f(x):—]
4
(2 +2x+3) V=T+5x
A (-3+5x)°
T=(f(x)=(=3+5x)3x+4)") 8=|f(x)= ’
L (3x+4) i
No?2 k = 5 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | -8 | -1 | 4 | [ 11 -3 | 6 | 6 | -3 |
| =5 | 3 -6 | 0 | 3 | [ 2 | -4 | 8 | 7 -4 |
[ -4 | 2 | -4 | 1] 2 | [ 31 -5 | 10 | -6 | -5 |
[ -3 | 1 -2 | 2 | 1 [ 4] -6 | 12 | -5 | -6
[ -2 | 0 | 0 | 3 | 0 | [ 5 7| 14 | -4 | -7 |
[ -1 -1 | 2 | 4 | -1 | [ 6 | 6 | 16 | -3 | -8 |
[0 | -2 | 4 | 5 | -2 | 7 5 | 18 | -2 | -9 |
No3 k = ======= =========== ===============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g(x) | =31 =21 -1/ 0 | 1 2 | 3 | 4 | 5
| g'(x) | 14 | 12 | 10 | 8 | 6 | 4 | 2 | o1 -2
| X | 1 ] 2 3 4 | 5 | [ 7 8 | 9 |
[ g((x) | 6 | 7 8 | 1 -8 | -7 1 -6 1 -5 1 -4
[ g'(x) | -4 | -6 | -8 | =10 | =12 | =14 | -16 | =18 | =20 |
7¢
No04 =| x(1) ==, P(x)=8+/x = 11,k=6
6+t
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Diff03 for No.11901

4
d=(fx)=(7x-8)%) 2=(fx)=(2x+5x-5))
1
3=(f(x)=+/8-5x) .4:(f(x):5—J
Tx —8
No0Ol = 1 1
S=|fx)= - .6:(f(x):—j
Q2x+2x+5) VSx—6
. (8x+5)
T=(f(x)=(8x+5)(3x-4)")  8=|f(x)= -
L (3x-4) J
No2 : k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -2 | -12 | -2 | 8 | [ 1] 5 | 2| 5 | 1]
[ =51 -1 -10 | -3 | 7| [ 2] 6 | 4 | 4 | 0 |
[ -4 | 0 | -8 | -4 | 6 | [ 31 7| 6 | 3 | -1 |
[ -3 | 1 -6 | -5 | 5 | [ 4] -6 | 8 | 2| -2 |
[ -2 | 2 | -4 | -6 | 4 | [ 5 -5 | 10 | 1] -3 |
[ -1 3 -2 | 7 3 [ 6 | -4 | 12 | 0 | -4 |
[0 | 4 | 0 | 6 | 2 | 7 -3 | 14 | -1 | -5 |
No3 : k = 2 ======= s========== s==============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
| gx) | -3 1 -2 -1 0 | 1 2 | 3 | 4 | 5
[ g'(x) | 10 | 8 | 6 | 4 | 2 | ol -2 1 -4 1] -6
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 6 | 7 8 | 1 -8 | -7 1 -6 1 -5 1 -4
[ g'(x) | -8 | =10 | =12 | =14 | -16 | =18 | =20 | =22 | =24 |
37
No04 =| x(t) ==, P(x) = 64/x — 5, k=8
5+¢
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Diff03 for No.11947

5
J=(f(x)=(7x-5)") 2=(fx)=(2+2x+9))
1
3=(f(x)=43x-5) .4:(f(x)=—3 J
Tx +4
No0Ol = 1 1
S=|f(x)= - .6:(f(x):—j
2x+2x+3) VSx—4
A (3x+8)
T=(fx)=3x+8) (6x-5)) .8=|f(x)= ;
L (6x-5) J
No2 : k = 6 === e === ===
x|l £ | £(x) 1 gx) | g'(x) | x|l £ L £(x) | gx) | g'(x) |
| -6 | 31 -10 | 0 | N B R 4| 7 0 |
| -5 | 21 -8 | 1 61 1 21 -5 61 =61 -1
| -4 1] -6 2 | 50 1 31 -6 81 <51 -2 |
| =3 0| -4 3 41 1 4 70 10 -4 -3
-2 -1 -2 4| 30 1 5| 61 121 -3 -4
-1 -2 0 | 5 | 21 | 6| 59 14 2] -5
|0 -3 2 | 6 | 1T 41 161 -1 -6 |
No3 : k = 7 ======= e mmmmm————mm=ae
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 5 | 4 | 3 2 | 1 ol -1 -2 1 =3
| g'(x) | -12 | =10 | -8 | -6 | -4 | -2 | 0 | 2 | 4 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -41 -5 -6 =71 -8/ 9 | 8 | T 6 |
[ g'(x) | 6 | 8 | 10 | 12 14 | 16 | 18 | 20 | 22 |
67
No0d=| x(1) =", — P(x)=44x — 13, k=4
+

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKXKKKXKXKXXKKKKKKKK XXX KKK KKK KKK XKLL KKK KKK KKK KK KKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XKL KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6400507-0001 6XX
Diff03 for No.11989

d=(f(x)=(-7+5x)) zz(ﬂm:(2f+2x+5f)

3=(f(x)=4/4-5x) .4=(ﬂx)=;—%—2]
S

No0l = 1 1
S=|flx)= .6:(ﬂx):——————j
5
(3x*+8x-8) V8-Tx
5 (7x-3)
T=(f(x)=(Tx-3Y(-5+8x)) .8=|f(x)= -
L (-5+8x)
No?2 k = 4 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 | -5 | 3 | 14 | [ 11 6 | 2 | -4 | 0 |
[ =51 0 | -4 | 2 | 12 | [ 2] 7| 3 -5 | -2 |
[ -4 | 1 -3 | 1] 10 | [ 31 -6 | 4 | -6 | -4 |
[ -3 | 2 | -2 | 0 | 8 | [ 4] -5 | 5 | 7 -6 |
[ -2 | 3 -1 | -1 | 6 | [ 5] -4 | 6 | 6 | -8 |
[ -1 4 | 0 | -2 | 4 | [ 6 | -3 | 7 5 | -10 |
[0 | 5 | 1| -3 | 2 | 7 -2 | 8 | 4 | -12 |
No3 : k = 7 ======= e mmmmm————mm=ae
| x| -8 =71 =61 =51 -4 ] -3| -2 -1] 0|
| g(x) 1 21 11 0] -1 =21 =31 -41] =51 =6 |
| g'(x) | 16 | 14 | 12| 10| 8| 61 4 21 0|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ gx) | =71 -8 9 | 8 | 7 6 | 5 | 4 | 3
[ g'(x) | -2 | -4 | -0 | -8 | =10 | =12 | =14 | -16 | -18 |
77
No04 = x(1) ==, P(x) = 24/x — 13, k=38
6+t
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Diff03 for No.11996

3
d=(f(x)=4x+7)") 2=(fx)=2x=Tx+7))
1
3=(fx)=47x-3) .4:(f(x):7—J
Tx -4
NoOT=1" 5 _| fx)= - .6:(f(x):—j
2P +2x+7) 2x=7
5 (4x+5)
J=(f(x)=(4x+5)3x+2))  .8=|f(x)= ;
L (3x+2) i
No2 k = 2 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | -3 | -5 | -3 | 8 | [ 1 | 4 | 2 | 4 | -6 |
| -5 | -4 | -4 | -2 6 | [ 2 3 | 3 5 | -8 |
| =4 | -5 | -3 | -1 | 4 | [ 3 2 4 | 6 | -10 |
| =3 | -6 | -2 | 0 | 2 | [ 4 | 1 | 5 | 7 -12 |
| =2 | T -1 | 1 | 0 | [ 5 | 0 | 6 | -6 | -14 |
[ =1 | 6 | 0 | 2 -2 [ 6 | -1 | 7 -5 | -16 |
[0 | 5 | 1 | 3 -4 | [ 7 -2 | 8 | -4 | -18 |
No3 : k = 4 ======= =========== ===============
| x| -8 =7 -6] -5 -4] =3 -2] -1] 0|
| g(x) I 31 21 1| 0] -1 =21 =3] -4 -5
lg'(x) | =51 =41 =31 -2 =11 01 11 21 3|
| x| 1 | 2 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -6 | =71 =8 9 | 8 | 7 6 | 5 | 4 |
[ g'(x) | 4 | 5 | 6 | T 8 | 9 1 10 | 11 | 12 |
47
No04 =| x(t) =——, P(x) = 84/x =7,k =5
5+¢
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Diff03 for No.12889

I=(fx)=3x-4)'" .2:(ﬂx):(2x4+2x+11f)

3=(f(x)=43-2x) .4=(ﬂx):;—%—gJ
oo

No0I = 1 1
S=|f(x)= .6:(Kx): j
4
2P +2x+7) V8x-3
; 2x-7)
T=(fx)=2x-7)(6x+7))  8=|fx)=—7
L (6x+7) J
No2 : k = 2 === e === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | -2 | 16 | 0 | -7 | [ 11 5 | 2 | 7 0 |
[ =5 | -3 | 14 | 1| -6 | [ 2] 4 | 0 | -6 | 1|
[ -4 | -4 | 12 | 2 | -5 | [ 3 3 -2 | -5 | 2 |
[ =3 1 -5 | 10 | 3 | -4 | [ 4 ] 2 | -4 | -4 | 3
| =2 | -6 | 8 | 4 | -3 | | 5 ] 1 -6 | -3 | 4 |
[ -1 1 T 6 | 5 | -2 | [ 6 ] 0 | -8 | -2 | 5 |
[ 0| 6 | 4 | 6 | -1 | [ 7 -1 | -10 | -1 | 6
No3 k = 3 ======= e ———— S
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
[ g((x) | 1| 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| g'(x) | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -81 -7 -6 =51 -4 | 31 -2 1 -1 0 |
[ g'(x) | 0 | 2 | 4 | 6 | 8 | 10 | 12 14 | 16 |
87
No04 = xu)=6+ﬁ,mx)=8J_—ak=3
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Diff03 for No.12890

3
I=(fx)=2x-7)% 2=(f(x)=2x*=7x+7))
1
3=(f(x)=4/-T+5x) .4=(f(x)=—3 J
4x -5
No0Ol = 1 1
S=|fx)= p .6:(f(x): J
2x+2x+3) VS —4x
5 (4x+7)
T=(f(x)=(4x+7)(5x-6))  .8=|f(x)= :
L (5x-06) J
No2 k = 4 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 2| 4 | -2 | -12 | [ 1] -5 | -3 | 5 | 2|
| =5 | 3 3 -3 | -10 | 2 -4 | -4 | 4 | 4
| -4 | 4 | 2| -4 | -8 | 3 -3 | -5 | 3 6
I =3 | 5 1] -5 | -6 | [ 4| -2 | -6 | 2 8 |
| =2 | 6 | 0 | -6 | -4 | [ 5 | -1 | -7 | 1] 10 |
[ -1 | 7 -1 | 7 -2 | | 6 | 0 | -8 | 0 | 12 |
[0 | -6 | -2 | 6 | 0 | 7 1] -9 | -1 14 |
No3 : k = 7 ======= —=————————e e e
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
[ g(x) | 2 | 1] o} -1 -2 1 -31 -4 -51 -6
I g'(x) | 7 6 | 5 | 4 | 3 2| 1] ol -1 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
Il gx) | =71 =8 9 | 8 | 7 6 | 5 | 4 | 3
l g'(x) I -2 1 =31 -4 =51 -6 =71 =81 9 | -10 |
27
No0 = x(1) =" — P(x)=44x —13,k=5
+t
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Diff03 for No.12891

4
d=(f(x)=(8x-3) 2=(f(x)=(4x +5x+5))
1
3=(f(x)=4/8-7x) .4:(f(x):6—J
Tx —6
No0Ol = 1 1
5= f(x)= - .6:(f(x):—j
(3x*-2x-2) V3x—6
. (4x+5)
T=(f(x)=(4x+5)(5x-6)")  .8=|flx)= -
L (5x-06) J
No2 : k = 2 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 -8 | -3 | 6 | [ 1] -6 | 6 | 4 | -1
| =5 | 0 | -6 | -2 5 | | 2 7 8 | 5 | -2 |
| -4 | -1 -4 | -1 | 4 | 3 6 | 10 | 6 | -3 |
I =3 | -2 | -2 | 0 | 3 | [ 4| 5 12 ] 7 -4 |
| =2 | -3 | 0 | 1] 2| [ 5 | 4 | 14 | -6 | -5 |
[ -1 | -4 | 2| 2| 1] | 6 | 3 16 | -5 | -6
[0 | -5 | 4 3 0 | 7 2 18 | -4 | =7 |
No3 : k = 8 ======= s========== s==============
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
| gx) | =51 -4 | -3 1 -2 -1/ 0 | 1] 2| 3
l g'(x) | -12 | =10 | -8 | -6 | -4 | =2 | 0 | 2| 4 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 4 | 5 | 6 | 7 8 | 91 -8 1 =71 -6
[ g'(x) | 6 | 8 | 10 | 12 14 | 16 | 18 | 20 | 22 |
87
No04 =| x(1) =——, P(x) =44/x - 11, k=8
5+t
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Diff03 for No.12917

d=(f(x)=(7x+3)" .2:(f(x):(4x2+7x+7)5)

3=(f(lx)=46-Tx) .4=(ﬂx)=——%——]
3x +5

No0l = 1 1
S=flx)= .6:(f(x):—j
7
(45°+3x-3) Vox—7
; (-3+5x)
J=(f(x)=(-3+5x)(3x-8)) .8=|f(x)= :
L (3x-28) J
No2 : k = 6 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 81 -1 -8 1 -6 1 6 | 6
| =5 | 0 | 7 0 -6 |2 7 0 | 7 8 |
| =41 -1 6 | 1 -4 |3 61 -1 =61 10 |
| =31 -2 5 | 21 -2 |4 51 -2 =51 12|
=21 -3 4 | 3 | 0 | |5 401 =31 -4 14
-1 -4 3 | 4 | 2 | |6 | 31 -41 -3 16
o1 -5 2 | 5 1 4 | 7 21 =51 -2 18 |
No3 : k = 8 ======= s========== s==============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
| gx) | -1 1| -2 | -3 | -4 -5 -6 -7 =81 9 |
[ g'(x) | -51 -4 | -3 -2 1 -1/ 0 | 1] 2 | 3
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 8 | 7 6 | 5 | 4 | 3 2 | 1 0 |
[ g'(x) | 4 | 5 | 6 | 7 8 | 9 | 10 | 11 | 12 |
47
No04 =| x(1)=——, P(x) = 24/x = 15,k=6
T+t
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Diff03 for No.13099

4
d=(f(x)=(7x-4)) 2=(f(x)=(2x*+2x+5))
1
3=(f(x)=44-7x) .4:(f(x):6—J
4x -3
No0Ol = 1 1
S=|flx)= y .6:(f(x):—j
(4x°+5x-5) VT-3x
. (3x-2)*
T=(f(x)=(3x-2)(2x+5)")  .8=|f(x)= y
L (2x+5) ]
No2 : k = 3 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 3 -5 | 3 8 | [ 1] -4 | 2| -4 | -6 |
| =5 | 2| -4 | 4 | 6 | 2 -5 | 3 -3 | -8 |
| -4 | 1] -3 | 5 | 4 | 3 -6 | 4 -2 | -10 |
I =3 | 0 | -2 | 6 | 2 [ 4| T 5 | -1 -12 |
| =2 | -1 -1 | 7 0 | [ 5 | 6 | 6 | 0 | -14 |
[ -1 | -2 | 0 | -6 | -2 | | 6 | 5 | T 1] -16 |
[0 | -3 | 1] -5 | -4 | 7 4 | 8 | 2 -18 |
No3 : k = 3 ======= s========== s==============
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) | 51 41 31 21 1] 0] -1] -21] -3|
lg'x 1 91 81 71 61 51 41 31 21 1]
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
| g(x) | -4 1 -5 -61 =71 -8/ 9 | 8 | T 6 |
I g'(x) | ol -1 -21 =31 -41 =51 -6/ 71 -8 |
57
No04=| x(1)="— — P(x)=8+/x —3,k=2
+t
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Diff03 for No.13100

I=(fx)=3x-5") .2:(ﬂx):(2x?+2x+11f)

3=(f(x)=4/4x-7) ,4=(ﬂx):g—%—;J
oo

No0l = 1 1
S=|f(x)= .6:(Kx):——————j
3
2xt+2x+7) V3x-8
. (2x+3)
T=(fx)=C2x+3Y 3x+5)  .8=|f(x)= ;
L (3x+5) J
No2 : k = 6 === e === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 8 | 41 14 | 1 -3 1 -3 0 |
| -5 | 5 | 7 30 -121 | 21 -2 | 01 -4 2 |
| -4 | 6 | 6 | 21 -0 | 31 -1] -1] -5 4
| -3 | 7 5 | 1] -8 | 4 01 -2 -6 | 6 |
| -2 1 -6 | 4 01 =61 | 5| 1 -3 7 8 |
-1 1 -5 30 -1 -4 | 6| 21 -4 61 10|
o -4 21 -2 1 =21 | 7 31 -5 51 12 |
No3 : k = 4 ======= e mmmmm————mm=ae
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 2| 3 4 | 5 | 6 | 7 8 | 9 1 -8 |
[ g'(x) | 7| 6 | 5 | 4 | 3 2 | 1] ol -1 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -71 -6 | -5 -4 1 -3 -2 1] -1/ 0 | 1|
lg'(x) I -2 1 -3 -4 1] -5 -6 -71 -89 9 | -10 |
47
No04 = ﬂ0:3+¢PPw)=4J;—1Lk=8
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Diff03 for No.13411

3
I=(f(x)=(Tx-5)") 2=(fx)=2x" +2x+9))
1
3=(f(x)=43x-5) .4=(f(x)=3—J
8x =7
No0l = 1 1
S=|f(x)= ; .6:(f(x):—j
2x+2x+3) VS-2x
5 (3x+5)
T=(fx)=3x+5)(4x-77)  .8=|f(x)= -
L (4x-17) J
No2 : k = 3 === e === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | 4 | -12 | 3 | T [ 11 -3 | 2 | -4 | 0 |
[ =5 | 3 -10 | 4 | 6 | [ 2] -4 | 4 | -3 | -1 |
[ -4 | 2 | -8 | 5 | 5 | [ 3 -5 | 6 | -2 | -2 |
[ =3 1 1| -6 | 6 | 4 | [ 4 ] -6 | 8 | -1 | -3 |
[ -2 0 | -4 | 7 3 [ 5] T 10 | 0 | -4 |
[ -1 1 -1 | -2 | -6 | 2 | [ 6 ] 6 | 12 | 1| -5 |
[ 0| -2 | 0 | -5 | 1| [ 7 5 | 14 | 2 | -6 |
No3 : k = 2 ======= e e
| x| -8 =71 =61 =51] -4 -3| -2 -1] 0|
| g(x) | -1 -2 -3 -4 =51 -6 -7 -8 9|
| g'(x) | =9 -8 =71 =61 =51 -4 | =3[ -2 | -1 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 8 | 7 6 | 5 | 4 | 3 2 | 1| 0 |
[ g'(x) | 0 | 1| 2 3 | 4 | 5 | 6 | T 8 |
27
No04 =| x(1)="— —P(x)=24x ~7,k=6
+
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Diff03 for No.646101

I=(f(x)=(6x-5)") .2=(ﬂx)=(3x?+2x—2f)

3=(f(x)=47-2x) 4=(mm:g—%—g]
K

No0l = 1 1
S=|f(x)= .6:(ﬂx):——————j
5
2 +2x+7) Vox—8
5 (3x+2)
T=(fx)=Bx+2)(=7+5x)") .8=|f(x)= -
L (=7+5x)
No2 : k = 4 === ====== === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | 3 -5 | -3 | 10 | [ 11 -4 | 2 | 4 | -4 |
| =5 | 4 | -4 | -4 | 8 | [ 2] -3 | 3 3 | -6
[ -4 | 5 | -3 | -5 | 6 | [ 3 -2 | 4 | 2 | -8 |
[ =3 1 6 | -2 | -6 | 4 | [ 4 ] -1 | 5 | 1| -10 |
[ -2 T -1 | 7 2 | [ 5] 0 | 6 | 0 | -12 |
[ -1 1 -6 | 0 | 6 | 0 | [ 6 ] 1| 7 -1 | -14 |
[ 0| -5 | 1| 5 | -2 | [ 7 2 | 8 | -2 | -16
No3 : k = 7 ======= e e
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
[ g((x) | 5 | 4 | 3 2 | 1 ol -1 -2 1 =3
| g'(x) | =71 -6 | -5 -4 | -3 -2 -1/ 0 | 1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -41 -5 -6 =71 -8/ 9 | 8 | T 6 |
[ g'(x) | 2 | 3 4 | 5 | 6 | 7 8 | 9 | 10 |
37
No04 = xu)=6+ﬁ,mx)=6J_—zk=4
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4
d=(f(x)=(7x-238)) 2=(f(x)=2xX +2x+5))
1
3=(f(x)=+/5x-8) .4:(f(x):3—J
3x7+2
No0l = 1 1
S=|fx)= - .6:(f(x):—J
2x+2x+3) NT=2x
5 (7x-4)
T=(f(x)=(Tx-4)3x+4)) .8=|f(x)= ;
L (3x+4) i
No?2 k = 5 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| -6 | 21 -7 1] 12 | 11 -5 ol  -61 -2 |
| =5 | 11 -6 21 10 | 21 -6 | I
| -4 | ol -5 3| 8 | |3 7 21 =41 -6
=31 -1 -4 4 | 6 | |4 6 | 31 =31 -8
=21 -2 -3 5 | 4 | |5 5 41 -2 -10 |
-1 =3 =2 6 | 2 | |6 | 4 | 51 -1 -12 |
I e 7 0 | 7 3 6 | 0| -14 |
No3 : k = 3 ======= s========== s==============
| x | =81 =71 -6 =51 4 1 -3 | -2 1| -1 | 0 |
[ gx) | -2 1 -1 0 | 1| 2 | 3 4 | 5 | 6 |
[ g'(x) | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 7| 8 | S| -8 -71 -6 1 -5 -4 ] -3 |
[ g'(x) | -2 | -4 | -6 | -8 | =10 | -12 -14 | =16 | -18 |
87
No04 =| x(t) =—, P(x) = 84/x 7, k=4
5+¢
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5
d=(fx)=2x-7)") 2=(fx)=2x"-3x=-3))
1
3=(f(x)=4/6-7x) .4=(f(x)=5—J
8x +3
No0Ol = 1 1
S=flx)= ; .6:(f(x):—j
2x*+2x+5) V3x-8
S (7x-28)
T=(f(x)=(7x-8)(3x+4)’)  .8=|f(x)= :
L (3x+4) ]
No2 : k = 2 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 -12 | -3 | 6 | [ 1 | 6 | 2 | 4 | -1 |
| =5 | 0 | -10 | -4 | 5 | [ 2 7 4 | 3 -2
| =4 | 1 | -8 | -5 | 4 | [ 3 -6 | 6 | 2 -3 |
| =3 | 2 | -6 | -6 | 3 [ 4 | -5 | 8 | 1 | -4 |
| =2 | 3 -4 | 7 2 [ 5 | -4 | 10 | 0 | -5 |
[ =1 | 4 | -2 6 | 1 | [ 6 | -3 | 12 | -1 | -6
[0 | 5 | 0 | 5 | 0 | [ 7 -2 | 14 | -2 | =7
No3 : k = 4 ======= =========== s==s===s=======
|l x| =81 =71 =61 =51 -4 =3 ] -2] -1] 0|
| g(x) | 61 51 41 3| 2] 1] 0] -1] -2|
lg'(x) | -12 | <10 | -8 | -6 | -4 | -2 0| 21| 4|
| x| 1] 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -3 1| -4 =51 -6 -7/ 8 | 9 | 8 | 7
[ g'(x) | o | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
8 7
No04=| x(1)=", — P(x)=44/x —9,k=38
+ 7
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5
d=(f(x)=(4x-7)") 2=(f(x)=(2xX +2x+11))
3=(f(x)=+/8-5x) .4=(f(x)=4—]

3x +7
No0l = 1 1
S=|f(x)= ; .6:(f(x):—j
(4x°-3x-3) V3-8x
; (5x+6)
T=(f(x)=(5x+6)(-7+8x)) 8= f(x)= ;
L (=7+8x)
No2 : k = 6 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 | 7 -2 | -10 | [ 1 | -6 | 0 | 5 | 4 |
| =5 | 2 6 | -3 -8 | [ 2 -5 | -1 | 4 | 6
| =4 | 3 5 | -4 | -6 | [ 3 -4 | -2 | 3 8 |
| =3 | 4 | 4 | -5 | -4 | [ 4 | -3 | -3 | 2 | 10 |
| =2 | 5 | 3 -6 | -2 [ 5 | -2 -4 | 1 | 12 |
[ =1 | 6 | 2 7 0 | [ 6 | -1 | -5 | 0 | 14 |
[0 | T 1 | 6 | 2 | [ 7 0 | -6 | -1 | 16
| x | =81 =71 -61 =51 -4 =31 =21 -1/ 0 |
[ g(x) | 0 | 1| 2 | 3 4 | 5 | 6 | T 8 |
| g'(x) | 14 | 12 | 10 | 8 | 6 | 4 | 2 | o1 -2
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
I g(x) | S| -8 -71 -61 -51 -4 11 =31 =21 -1/
[ g'(x) | -4 | -6 | -8 | =10 | -12 | -14 | -16 | -18 | =20 |
5¢
No0 = x(1) =" — P(x)=4+x —15,k=6
+1
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3
I=f(x)=3x-17)) 2=(fx)=2x +2x+9) )
1
3=(f(x)=+/5-2x) .4=(f(x)=—4 J
2x +7
No0Ol = 1 1
S=|f(x)= - .6:(f(x):—j
(4x*—5x-75) V3-4x
S (2x+3)
T=(fx)=(2x+3) (4x=-3))  .8=|f(x)= -
L (4x-3) 4
No2 : k = 5 === ====== === ===
x| £ | £ (=) | gx) | g (%) | x| £ 1 £ (=) | gx) | g (x) |
| -6 | 4 | -10 | 0 | T [ 11 -3 | 4 7 0 |
| =5 | 3 -8 | 1 6 | | 2 | -4 | 6 | -6 | -1 |
[ -4 | 2 | -6 | 2 | 5 | [ 3 -5 | 8 | -5 | -2 |
[ =3 1 1| -4 | 3 | 4 | [ 4 ] -6 | 10 | -4 | -3 |
[ -2 0 | -2 | 4 | 3 [ 5] T 12 | -3 | -4 |
[ -1 1 -1 | 0 | 5 | 2 | [ 6 ] 6 | 14 | -2 | -5 |
[ 0| -2 | 2 | 6 | 1| [ 7 5 | 16 | -1 | -6 |
No3 k = 6 ======= =========== ===============
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
[ g(x) | 4 | 3 2 1] ol -1 =21 =31 -4
| g'(x) | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 |
| X 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
| g(x) | -51 -6 1| =71 =8 9 | 8 | 7 6 | 5 |
[ g'(x) | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 |
87
No0 = x(1)=" — P(x)=2+/x — 13, k=2
+
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3
I=(f(x)=(7x+2)"") 2=(f(x)=(2x+3x-3))
1
3=(f(x)=4/4-3x) .4:(f(x):6—J
5x +3
No0Ol = 1 1
S=|fx)= y .6:(f(x):—j
2x+5x-75) V3-2x
A (3x—4)*
T=(fx)=3x-4) (4x-7)) .8=|f(x)= -
L (4x-17) 4
No2 k = 4 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 -12 | 1] 6 | [ 1] 6 | 2| -6 | -1
| =5 | 0 | -10 | 0 | 5 2 7 4 7 -2 |
| -4 | 1] -8 | -1 | 4 | 3 -6 | 6 | 6 | -3 |
I =3 | 2 -6 | -2 | 3 | [ 4| -5 | 8 | 5 | -4 |
| =2 | 3 -4 | -3 | 2| [ 5 | -4 | 10 | 4 | -5 |
[ -1 | 4 | -2 | -4 | 1] | 6 | -3 | 12| 3 -6
[0 | 5 0 | -5 | 0 | 7 -2 | 14 | 2 =7 |
No3 : k = 4 ======= —=————————e e e
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
| gx) | -2 1 -1 0 | 1 2| 3 4 | 5 | 6 |
lg'(x) I -71 -6 =51 =41 =31 -2 1 -1 0 | 1|
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 7T 8 | oS! -8 1 =71 -6 1 =51 -4 =3/
I g'(x) | 2 3 4 | 5 | 6 | 7 8 | 9 | 10 |
77
No0d=| x(1) = — P(x) = 64x — 13, k=2
+t
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I=(fx)=(5x-8)"" .2:(ﬂx):(2x4+2x+11f)

3=(f(x)=47x-5) .4=(ﬂx)=;—%—;J
Kl

No0I = 1 1
S=|f(x)= .6:(Kx):——————j
5
2xt+2x+5) V6-5Sx
5 (7x+8)
T=(fx)=(Tx+8Y (2x+3))  .8=|f(x)= -
L (2x+3) J
No2 : k = 2 === e === ===
x| £ | £ (=) | gx) | g (%) | x| £ 1 £ (=) | gx) | g (x) |
=61 =31 -8 | 1 41 1 4 61 =61  -3|
=51 -4 -6 2 | 30 1 2| 3 81 -51 -4 |
=41 -5 -4 3 21 1 3| 21 10| -4 -5 |
=31 -6 -2 4 1 4 1] 1201 -3 -6 |
| -2 | 7 0 | 5 | 01 | 5| O A
| -1 6 | 2 | 61 -1 | 61 -1 16| -11 =8|
0| 5 | 4 T =20 1 71 -2 18 | 01 -9 |
No3 : k = 5 ======= e e
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
[ g((x) | 0 | 1| 2 3 4 | 5 6 | T 8 |
[ g'(x) | 6 | 5 | 4 | 3 2 | 1 | or -11 -2
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 1 -8 | -7 -6 -5 -4 ] -3 | -2 | -1 |
lg'(x) I -31 -4 -5 -6 =71 -81 -9 -10 | -11 |
37
No04 = ﬂ0=€H%PPw)=2J;—1Lk=4
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4
d=(f(x)=(7x+8)") 2=(fx)=2x*=7x-17))
1
3=(f(x)=+/5x-2) .4:(f(x):5—J
5x+7
NoOT=1" 5 _| fx)= 3 .6:(f(x):—j
Q2x+2x+5) 4x—7
S (3x-5)
T=(f(x)=3x-5)°(7x+6)) .8=|f(x)= :
L (7x+6) i
No2 k = 6 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 2| =7 | 3 14 | [ 1] -5 | 0 | -4 | 0 |
[ =51 3 -6 | 2 | 12 | [ 2] -4 | 1| -5 | -2 |
[ -4 | 4 | -5 | 1] 10 | [ 31 -3 | 2 | -6 | -4 |
[ -3 | 5 | -4 | 0 | 8 | [ 4] -2 | 3 7 -6 |
| =2 | 6 | -3 | -1 | 6 | | 5 1 -1 | 4 | 6 | -8 |
[ -1 7| -2 | -2 | 4 | [ 6 | 0 | 5 | 5 | -10 |
[0 | -6 | -1 | -3 | 2 | 7 1 6 | 4 | -12 |
No3 : k = 7 ======= —=————————e e e
| x| =81 =71 =61 =51 =4 | =3] -2 | -1] 0|
| g(x) 1 21 11 0] -1 =21 =31 -4 -5 -6
lg'(x) | =51 =41 =31 -2 -1 0] 1| 2] 3|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ gx) | =71 -8 9 | 8 | 7 6 | 5 | 4 | 3
[ g'(x) | 4 | 5 | 6 | 7| 8 | 9| 10 | 11 | 12 |
87
No04 =| x(t) =—, P(x) =4/x =7,k =5
5+¢
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6
d=(f(x)=(5x-2)") 2=(f(x)=2x*+2x+7))
1
3=(f(x)=4/4-5x) .4=(f(x)=6—J
5x —4
NoOT=1" 5 _| fx)= : .6:(f(x):—j
(3x" —4x—4) 6x -7
5 (4x-5)
T=(fx)=(4x-5)(3x-2))  .8=|f(x)= -
L (3x-2) 4
No2 : k = 5 === ————ee === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1] -0 -2 | 81 1 11 -6 4| 5 | 1
| -5 | 21 -8 1 -3 T 1 21 -5 6 | 4 0 |
| -4 30 -6 -4 61 1 31 -4 8 | 3 -1
| =3 41 -4 -5 510 1 41 -3 10| 21 -2 |
| -2 51 -2 -6 | a1 1 5 -2 12| 1] -3
| -1 6 | 0 | 7 30 1 61 -1 14| 0| -4
|0 7 2 | 6 | 201 1 7 0 161 -1 -5
No3 : k = 7 ======= e mmmmm————mm=ae
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 1| 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g'(x) | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -81 -7 -6 -5 -4 -3 1| -2 | -1/ 0 |
[ g'(x) | -2 | -4 | -0 | -8 | =10 | =12 | =14 | -16 | -18 |
27
No04 =| x(1)="— — P(x)=24/x -5, k=38
+
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d=(f(x)=(4x-7) .2=(f(x)=(3x3—2x—2)5)

3=(f(x)=47x-5) .4=(f@):ﬁ}
Ao

No0l = 1 1
S=|flx)= .6:(f(x):—j
7
(4% +7x+7) VS +8x
; (7x+5)
T=(fx)=(Tx+57(8x+3))  .8=|f(x)= -
L (8x+3) i
No?2 k =5 === ====== === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | -1 | 12 | -2 | -4 | [ 11 6 | -2 5 | 3
| =5 | 0 | 10 | -3 | -3 | | 2 | 7 -4 | 4 | 4 |
[ -4 | 1| 8 | -4 | -2 | [ 3 -6 | -6 | 3 5 |
[ =3 1 2 | 6 | -5 | -1 | [ 4 ] -5 | -8 | 2| 6 |
[ -2 3 4 | -6 | 0 | [ 5] -4 | -10 | 1| 7
[ -1 1 4 | 2 | 7 1| [ 6 ] -3 | -12 | 0 | 8 |
[ 0| 5 | 0 | 6 | 2 | [ 7 -2 | -14 | -1 | 9 |
No3 : k = 4 ======= =========== ===============
| x| 8| -71 -6 =51 -4 | -3 =21 =11 0 |
[ g((x) | 2 | 3 4 | 5 | 6 | 7 8 | 9 1 -8 |
|l g'(x) | -81 -7 -6 -5 -4 -3 1| -2 -1/ 0 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -71 -6 | -5 -4 1 -3 -2 1] -1/ 0 | 1|
[ g'(x) | 1 2 | 3 4 | 5 | 6 7 8 | 9 |
57
No04 = x(t)=6+t2,P(x)=4f—3,k=6

X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKKXKXXXXKKKKKKK KKK XXX KKK KKK KKK KKK KL KK KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK L KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400507-00035XX
Diff03 for No.646111

d=(fx)=(5x+8)%) Qz(ﬁm=(3£—2x—2f)

3=(f(x)=4/3-8x) ,4=(mm:g—%—;J
-

No01 = 1 !
5 f(X) ) 5 6(f(X)mj
2x =Tx+7)
. (5x+7)°

T=(f(x)=(5x+7)B3x-4))  8=|f(x)= -

L (3x-4) i
No2 k = 5 === —————e === ===
x| f(x) | £'(x®) | g(x) | g'(x) | I ox | f£(x) | £'(x®) | g(x | g'(x) |
| -6 | -1 14 | 1| -5 | |1 6 | 0 | -6 | 2 |
| -5 | 0 | 12 | 0 | -4 | |2 7| -2 | 7| 3|
| -4 | 1| 10 | -1 | -3 | |3 -6 | -4 | 6 | 4 |
| =31 2 | 8 | -2 | -2 | |4 -5 | -6 | 501 5 |
| =2 | 3 6 | -3 -1 | | 5 | -4 | -8 | 4 | 6 |
| -1 | 4 | 4 | -4 | 0 | |6 | -3 1 -10 | 3 7|
|0 | 5 | 2 | -5 | 1| l7 -2 | -12 | 2 | 8 |
No3 : k = 5 ======= —========== ===============
| x | -8 =71 -61 -51] -4 =31 -2 -11 0|
| g(x) | 01 -1 -2 =31 -4 =51 -61 -7 -8 |
l g'(x) | 10 | -8 | -6 -4 -2 01 21 41| 6|
| x | 11 21 31 41 51 61 71 81 9|
| gx) | 91 81 71 61 51 41 31 2] 1|
|l g'(x) | 8| 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |

47
No04 = xu)=5+ﬁ,mx)=8J_—ak=3
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3
I=(fx)=(-3+5x)") 2=(f(x)=2x +2x+11))
3=(f(x)=+/3-8x) .4=(f(x)=6—J
Tx +5
No0l = 1 1
S=|f(x)= , .6:(f(x):—j
2x-3x-3) VT7x-8
. (4x-3)*
T=(f(x)=(4x-3) (7x+5)) 8= f(x)= -
L (7x+5)
No2 k =5 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 1 5 | 3 -14 | [ 1] -6 | -2 | -4 | 0 |
| =5 | 2| 4 2| -12 | 2 -5 | -3 | -5 | 2|
| -4 | 3 3 1] -10 | 3 -4 | -4 | -6 | 4 |
I =3 | 4 | 2 0 | -8 | [ 4| -3 | -5 | 7 6
| =2 | 5 | 1 | -1 -6 | [ 5 -2 | -6 | 6 | 8 |
[ -1 | 6 | 0 | -2 | -4 | | 6 | -1 -7 5 | 10 |
[0 | 7 -1 | -3 | -2 | 7 0 | -8 | 4 | 12 |
No3 : k = 5 ======= s========== s==============
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) | =51 =41 =3 -2 -1 01 1| 2] 3]
I g'(x) | 9 | 8 | 7 6 | 5 4 3 2| 1]
| x| 1 | 2 3] 4 | 5 6 T 8 | 9 |
[ g(x) | 4 | 5 | 6 | 7 8 | 91 -8 1 =71 -6
I g'(x) | o -1r1 -21 =31 -41 =51 -61 =71 -8/
27
Notd =| x(1) =~ S P(x)=44/x —3,k=4
+t
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4
d=(f(x)=(3x+2)) 2=(f(x)=2x =7x-17))
1
3=(f(x)=4/3-2x) .4=(f(x)=—4 J
Tx —8
No0Ol = 1 1
S=|fx)= ; .6:(f(x):—j
2 +7x-7) NTx—6
. (3x-5)*
T=(fx)=3x=5)(5x+8)")  .8=|flx)= -
L (5x+8) ]
No2 k = 5 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 -8 | -3 | 16 | [ 1] 6 | -1 4 | 2|
| =5 | 0 | =7 | -4 | 14 | 2 7 0 | 3 0 |
| -4 | 1] -6 | -5 | 12| 3 -6 | 1] 2| -2 |
I =3 | 2 -5 | -6 | 10 | [ 4| -5 | 2 1] -4 |
| =2 | 3 -4 | 7 8 | [ 5 -4 | 3 0 | -6
[ -1 | 4 | -3 | 6 | 6 | | 6 | -3 | 4 -1 -8 |
[0 | 5 -2 | 5 | 4 | 7 -2 | 5 | -2 | -10 |
No3 : k = 4 ======= =========== s==s===s=======
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
| gx) | -2 1 -1 0 | 1 2| 3 4 | 5 | 6 |
[ g'(x) | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 7T 8 | oS! -8 1 =71 -6 1 =51 -4 =3/
[ g'(x) | 0 | -2 -4 | -6 | -8 | =10 | =12 | -14 | -16 |
47
No04 =| x(t) =——, P(x) =6 4/x — 5, k=4
T+t

DG BT ISR VIVCNE D 19:9:0:0:0:0:0:0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0:0.0:0:0:0:0:9.9.9.0:0.0:0:9:0:9:9:9:9.9.9.9.9.9.9.9.9:9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKXME6/1-6400507-00038XX
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I=(f(x)=(5x+7)") 2= (fx)=(3x' —dx+4))

3=(f(x)=4/5x-8) .4:(ﬁﬂ:g—%—gJ
oo

No0Ol = 1 1
S=|flx)= .6:(Kx): j
4
2xt+2x+7) V3x-8
5 (2x-5)
J=(fx)=(2x-5)(3x+2)")  S=|fx)=— %
L (3x+2) i
No2 k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | 8 | -2 | -14 | [ 11 -3 | 1| 5 | 0 |
[ =51 3 7 -1 -12 | [ 2] -4 | 0 | 6 | 2 |
[ -4 | 2 | 6 | 0 | -10 | [ 31 -5 | -1 | 7 4 |
[ -3 | 1 5 | 1] -8 | [ 4] -6 | -2 | -6 | 6
[ -2 | 0 | 4 | 2 | -6 | [ 5] T -3 -5 | 8 |
[ -1 -1 | 3 3 | -4 | [ 6 | 6 | -4 | -4 | 10 |
[0 | -2 | 2 | 4 | -2 | 7 5 | -5 | -3 | 12 |
No3 : k = 4 ======= e e
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 2 | 1| o - -2 =31 -4 -5 -6
log'x) | =91 -8 -7 -6 -5 -4 ] -3 | -2 | -1
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ gx) | =71 -8 9 | 8 | 7 6 | 5 | 4 | 3
[ g'(x) | 0 | 1| 2 | 3 4 | 5 | 6 | T 8 |
87
No04 = x(1) =——, P(x) = 84/x — 15, k=4
4+t
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3
d=(flx)=(2x-5)") 2=(f(x)=2x+2x+7))
1
3=(f(x)=46x-5) .4:(f(x)=—7 J
3x"+5
No0Ol = 1 1
S=|flx)= y .6:(f(x):—j
2xt+2x+7) NTx=3
S 2x-7)
T=(f(x)=(2x-7)(4x+3))  .8=|f(x)= ;
L (4x+3) ]
No?2 k = 5 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
=61 -2 =71 -2 14 | |1 5 | 0 | 5 1 0 |
=51 -1 =61 =31 12 | |2 6 | 1| 41 -2
| -4 | ol =51 =41 10 | |3 7 2 | 31 -4
| -3 | 11 -41 -5 8 | | 41 -6 | 3 21 -6
| -2 | 21 =31 -6 6 | | 51 -5 | 4 | 11 -8
| -1 | 31 -2 7 4 | |61 -4 5 | 0| -10 |
|0 41 -1 6 | 2 | 7 =3 61 -1 -12 |
No3 : k = 3 ======= s========== s==============
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
[ g(x) | 3 2| 1] ol -1 -2 1 =31 -4 1 -5
l g'(x) I -6 =51 -4 =31 -2 1 -11] 0 | 1] 2|
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | -6 1 =71 =81 9 | 8 | 7 6 | 5 4
I g'(x) | 3 4 | 5 | 6 | T 8 | 9 1 10 | 11 |
47
No04=| x(1)=" — P(x)=64x ~7,k=4
+t
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6
d=(f(x)=(8x+3))) 2=(f(x)=2x+2x+7))
1
3=(f(x)=+/5x-6) .4:(f(x):5—J
Tx =2
No0l = 1 1
S=flx)= - .6:(f(x): j
2x*+2x+5) V8-Tx
. (3x-28)*
J=(f(x)=B3x-8)(7x+3))  .8=|f(x)= y
L (7x+3) ]
No2 : k = 6 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 3 T 2| -8 | [ 1] -4 | 0 | -5 | 6 |
| =5 | 2 | 6 | 3 | -6 | [ 2] -5 | -1 -4 | 8 |
[ -4 | 1 5 | 4 | -4 | [ 31 -6 | -2 -3 | 10 |
[ -3 | 0 | 4 | 5 | -2 | [ 4] T -3 | -2 | 12 |
[ -2 | -1 3 6 | 0 | [ 5 6 | -4 | -1 14 |
[ -1 -2 | 2 | 7 2 | [ 6 | 5 | -5 | 0 | 16 |
[0 | -3 | 1| -6 | 4 | 7 4 | -6 | 1 18 |
No3 : k = 2 ======= =========== s==s===s=======
x| =81 =71 =61 =51 =4 -=3] -2] -1] 0|
| g(x) | -1 o1 1| 21 31 41 51 61 17|
lg'(x) | =91 =81 =71 =61 =51 -4 =3 | -2 -1|
| x| 1] 2| 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 8 | °!1 -8 -71 -6 | -5 -4 | -3 | -2 |
[ g'(x) | 0 | 1| 2 | 3 4 | 5 | 6 | T 8 |
47
No0d=| x(1)="— ~ P(x)=84/x — 13,k=5
+t
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d=(f(x)=(7x+6)" .2:(f(x):(2x4—7x—7)4)

3=(f(x)=43-8x) .4=(ﬂx)=——%——]
3x +5

No0l = 1 1
S=|f(x)= .6:(f(x):—j
4
(4x*-7x-7) V6-Tx
5 (-7+5x)
T=(f(x)=(-7+5x)° (8x+5)) .8=|f(x)= -
L (8x+5) J
No2 : k = 6 === e === ===
x| £ | £ (=) | gx) | g (%) | x| £ 1 £ (=) | gx) | g (x) |
| -6 | 1 8 | 1| -0 | 1] -6 | 11 -6 | 4
| -5 | 0 | 7 21 -8 | 2| 7 01 -5 | 6
-4 -1 6 | 31 =61 | 3| 61 -1 -4 8 |
| =31 -2 5 | N 51 =21 =3 10|
| -2 1 -3 4 51  -21 | 5| 41 =3 =2 12|
-1 -4 3 6 | 0 | 6| 30 -4 -1 14|
o1 -5 2 | 7 21 1 7 21 -5 | 01 16
No3 : k = 7 ======= e mmmmm————mm=ae
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
[ g((x) | 1| o -1 -2 1 =31 -4 -51 -6 1] -7/
lg'(x) | -71 -6 | -5 -4 1 -3 -2 1] -1/ 0 | 1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| g(x) | -8 | 9 | 8 | 7| 6 | 5 | 4 | 3 2 |
[ g'(x) | 2 | 3] 4 | 5 | 6 | 7 8 | 9 | 10 |
67
No04 = x(t) =——, P(x) =44/x — 13, k=38
4 +¢
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3
d=(f(x)=(5x+3)") 2=(fx)=(2x+2x+9))
3=(f(x)=+/5-4x) .4:(ﬂx)=——;——

3x +7
NoOT=1" 5 _| fx)= : .6:(f(x):—j
(3x° +4x+4) Tx=3
; (5x—-6)
J=(f(x)=(5x-6) (3x-5)) .8=|f(x)= -
L (3x-5) J
No2 : k = 2 === e === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 0 | =7 | -2 | 10 | [ 1] T 0 | 5 | -4 |
| =5 | -1 | -6 | -1 8 | 2 6 | 1] 6 | -6 |
| -4 | -2 | -5 | 0 | 6 | 3 5 | 2| 7 -8 |
I =3 | -3 | -4 | 1] 4 | [ 4| 4 | 3 -6 | -10 |
| =2 | -4 | -3 | 2| 2| [ 5 | 3 4 -5 | -12 |
[ -1 | -5 | -2 | 3 0 | | 6 | 2| 5 | -4 | -14 |
[0 | -6 | -1 | 4 | -2 | 7 1] 6 | -3 | -16 |
No3 : k = 7 ======= e —— e
| x| =81 =71 =61 =51 -4 3] =21 -11] 0|
g 1 11 01 -1 =21 =31 -4 =51 -6 -7 |
lg'(x) I 81 71 61 51 41 31 21 1] 0]
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | -8 9 | 8 | 7 6 | 5 | 4 | 3 2|
lg'(x) I -1 1 -2 1 =31 -4 -5 =-61 =71 8 I -9 |
47
No04=| x(1)="— — P(x)=8+4x ~7,k=4
+ ¢
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3
d=(f(x)=(-7+5x)) 2=(f(x)=4x"+7x-17))
3=(f(x)=+2x-5) .4=(f(x)=6—]

3x +8
No0l = 1 1
S=|fx)= p .6:(f(x):—j
2x*-5x+5) V3—dx
A (8x—3)*
T=(f(x)=(8x-3)"(-7+5x)) .8=|f(x)= -
L (=7+5x)
No2 k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 3 =7 | 2| 14 | [ 1] -4 | 0 | -5 | 0 |
[ =51 4 | -6 | 1] 12 | [ 2] -3 | 1| -6 | -2 |
[ -4 | 5 | -5 | 0 | 10 | [ 31 -2 | 2 | 7 -4 |
[ -3 | 6 | -4 | -1 8 | [ 4] -1 | 3 6 | -6 |
[ -2 | 7| -3 | -2 | 6 | [ 5 0 | 4 | 5 | -8 |
[ -1 -6 | -2 | -3 | 4 | [ 6 | 1 5 | 4 | -10 |
[0 | -5 | -1 | -4 | 2 | 7 2 | 6 | 3 -12 |
No3 : k = 2 ======= =========== s==s===s=======
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) | 0] -1 1] -2 =31 -4 =51 -6 -7 =8|
lg'(x) | =81 =71 =61 =51 -4 -3] -2| -1] 0|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 9 | 8 | 7 6 | 5 | 4 3 2 | 1 |
[ g'(x) | 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
87
No0d=| x(1) =", — P(x)=64x — 11, k=7
+
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7
d=(f(x)=(7x+5)") 2=(f(x)=(2x*+2x+9))
1
3=(f(x)=+/3-8x) .4=(f(x)=—4 J
Tx +2
No0Ol = 1 1
S=|fx)= - .6:(f(x):—j
(3x*+8x-8) V3x-—4
5 (3x+8)
T=(f(x)=3x+8)(6x-5)) .8=|f(x)= ;
L (6x-5) J
No2 : k = 2 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | -1 -8 | -2 | 4 | [ 1] 6 | 6 | 5 | -3 |
| =5 | 0 | -6 | -3 3 | [ 2 7 8 | 4 | -4 |
[ -4 | 1 -4 | -4 | 2 | [ 31 -6 | 10 | 3 | -5 |
[ -3 | 2 | -2 | -5 | 1 [ 4] -5 | 12 | 2| -6 |
[ -2 | 3 0 | -6 | 0 | [ 5 -4 | 14 | 1] -7 |
[ -1 4 | 2 | 7 -1 | [ 6 | -3 | 16 | 0 | -8 |
[0 | 5 | 4 | 6 | -2 | 7 -2 | 18 | -1 | -9 |
NO3 M k = 4 ======= _========== ey
| x | 81 =71 -6 -5 -4 -3 -2 -1/ 0 |
[ g(x) | 0 | 1] 2| 3 4 | 5 | 6 | T 8 |
| g'(x) | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 1 -8 | -7 -6 -5 -4 ] -3 | -2 | -1 |
[ g'(x) | 0 | 2 4 | 6 | 8 | 10 | 12 14 | 16 |
37
No04 = x(t) ==, P(x) = 8 4/x -9, k=2
5+¢
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4
d=(fx)=(-5+8x)") 2=(fx)=2x=Tx+7))
1
3=(f(x)=46-7x) .4=(f(x)=7—J
2x -3
No0Ol = 1 1
S=|fx)= y .6:(f(x):—j
Q2 +2x+7) NVT-6x
S (4x+3)
J=(f(x)=(4x+3)(6x=5)) .8=|f(x)= :
L (6x-5) J
No2 k = 5 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | -4 | 1] 10 | [ 1] -3 | 3 -6 | -4 |
| =5 | 5 | -3 0 | 8 | [ 2 -2 | 4 | 7 -6 |
[ -4 | 6 | -2 | -1 6 | [ 31 -1 | 5 | 6 | -8 |
[ -3 | 7| -1 | -2 | 4 | [ 4] 0 | 6 | 5 | -10 |
[ -2 | -6 | 0 | -3 | 2 | [ 5 1 7 4 | -12 |
[ -1 -5 | 1| -4 | 0 | [ 6 | 2 | 8 | 3 | -14 |
[0 | -4 | 2 | -5 | -2 | 7 3 9 | 2| -16 |
No3 : k = 5 ======= s========== s==============
x| =81 =71 =61 =51 -4 -=3] -2] -1] 0|
| g(x) | =51 =41 -3 -2 -1 01 1] 2] 3]
lg'(x) | =51 =41 =31 -2 -1 0] 1| 2] 3|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 4 | 5 | 6 | 7| 8 | 91 -8 | -7 1 -6
[ g'(x) | 4 | 5 | 6 | 7| 8 | 9| 10 | 11 | 12 |
27
No04 =| x(1)="— — P(x)=8+4/x —5,k=3
+t
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7
I=(fx)=Bx-7)'" 2=(fx)=(2x +2x+11))
3=(f(x)=4/7x-3) .4:(f(x):3—J
5x+8
No0l = 1 1
S=|f(x)= - .6:(f(x):—j
2 +2x+3) VT —4x
5 (4x+5)
7=(f(x)=(4x+5) (5x+8)) 8= f(x)= :
L (5x+8)
No2 k = 5 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | 4 | -14 | -1 8 | [ 1] -3 | 0 | 6 | 1]
| =5 | 3 -12 | 0 | T 2 -4 | 2| 7 0 |
| -4 | 2| -10 | 1] 6 | 3 -5 | 4 -6 | -1 |
I =3 | 1] -8 | 2 5 | [ 4| -6 | 6 | -5 | -2 |
| =2 | 0 | -6 | 3] 4 | | 5 1 7 8 | -4 | -3 |
[ -1 | -1 -4 | 4 | 3 | 6 | 6 | 10 | -3 | -4 |
[0 | -2 | -2 | 5 | 2 7 5 12 ] -2 | -5 |
No3 : k = 8 ======= s========== s==============
|l x| =81 =71 =61 =51 -4 =3 ] -2] -1] 0|
| g(x) | 61 51 41 3] 2] 1] 0] -1] -2|
lg'x) 1 81 71 61 51 41 31 21 11 0]
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
| g(x) | -31 -4 -5 -6 =71 =81 9 | 8 | 7
lg'(x) I -1 1 -2 1 =31 -4 -5 =-61 =71 8 1 -9 |
27
No04=| x(1)=" — P(x)=8+/x 9, k=8
+t
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6
d=(f(x)=(7x-2)") 2=(f(x)=(2x+2x+9))
1
3=(f(x)=42x-7) .4:(f(x)=—6 J
5x —4
No0Ol = 1 1
5= f(x)= y .6:(f(x):—j
2x+5x-75) V2-3x
S (4x+7)
T=(f(x)=(4x+7)(7x-6))  .8=|f(x)= :
L (7x-06) J
No2 : k = 2 === ====== === ===
I x| f(x) | £'(x) | g(x) | g'(x) | I x| f(x) | £'(x) | g(x) | g'(x) |
| -6 | -2 | 12 | 1] =7 | [ 1] 5 | -2 | -6 | 0 |
| =5 | -1 | 10 | 0 | -6 | | 2 6 | -4 | 7 1|
| -4 | 0 | 8 | -1 | -5 | 3 7 -6 | 6 | 2|
I =3 | 1] 6 | -2 | -4 | [ 4| -6 | -8 | 5 | 3
| =2 | 2| 4 -3 | -3 | [ 5 | -5 | -10 | 4 | 4
[ -1 | 3 2| -4 | -2 | | 6 | -4 | -12 | 3 5
[0 | 4 | 0 | -5 | -1 | 7 -3 | -14 | 2 6
No3 : k = 6 ======= s========== s==============
| x | -8 -71 -6 =51 -4 -3 1| -2 1 -1/ 0 |
[ g(x) | 0 | 1] 2| 3 4 | 5 | 6 | T 8 |
l g'(x) | -10 | -8 | -6 1| -4 | -2 | 0 | 2| 4 | 6 |
| x| 1] 2| 31 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | S/ -8 =71 -6 =51 -4 =31 =2 1| -1
[ g'(x) | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
77
No04=| x(1)=" — P(x)=8+4x —9,k=6
+t
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7
d=(f(x)=(6x+7)") 2=(fx)=3x"+8x-8))
1
3=(f(x)=47x-3) .4:(f(x)=—3 J
3x+4
No0Ol = 1 1
S=|fx)= - .6:(f(x):—j
2x+2x+3) V3-8x
. (3x-28)*
J=(f(x)=3x-8)(7x-3))  .8=|f(x)= y
L (7x-3) J
No2 k = 5 === ====== === ===
x| f(x) | £ (=) | g(x) | g'(x) | I ox | f(x) | £'(x) | g(x) | g'(x) |
| =6 | 0 14 2.1 -5 |1 7 01 -5 2 |
=51 -1 12 | 31 -4 |2 61 -2 -4 3 |
=41 -2 10 | 41 -3 |3 51 =41 -3 4 |
| =31 -3 8 | 51 -2 | |4 41 -6 1 -2 5 |
-2 1 -4 6 | 61 -1 | |5 31 =81 -1 6 |
| =11 -5 | 4 | 7 0 | |6 | 2 | -10 | 0 | 7
o1 -6 | 21 -6 | 1 7 1 -12 1] 8 |
No3 : k = 2 ======= =========== s==s===s=======
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g(x) | 6 | 5 | 4 | 3 2| 1] o1 -1 -2 |
[ g'(x) | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -31 -4 1| -5 -61 =71 -8/ 9 | 8 | 7
[ g'(x) | -2 | -4 | -0 | -8 | =10 | =12 | =14 | -16 | -18 |
27
No04 =| x(1)="— — P(x)=44x ~7,k=5
+t
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6
I=(f(x)=(2x-5)) 2=(fx)=(3x*—4x+4))
3=(f(x)=47x-2) .4=(f(x)=5—]
6x +5
No0I = 1 1
S=|f(x)= ; .6:(f(x):—j
2x*+2x+5) V3x—4
A (Tx+4)
T=(fx)=(Tx+4) (=5+8x)) .8=|f(x)= -
L (-5+8x)
No?2 k = 2 === ====== === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | -2 | -16 | 2 5 | [ 1 ] 5 | -2 | -5 | -2 |
[ =5 | -1 | -14 | 1| 4 | [ 2] 6 | 0 | -6 | -3 |
[ -4 | 0 | -12 | 0 | 3 [ 3 T 2 7 -4 |
[ =3 1 1| -10 | -1 | 2 | [ 4 ] -6 | 4 | 6 | -5 |
[ -2 2 | -8 | -2 | 1] [ 5 | -5 | 6 | 5 | -6 |
[ -1 1 3 -6 | -3 | 0 | [ 6 ] -4 | 8 | 4 | -7 |
[ 0| 4 | -4 | -4 | -1 | [ 7 -3 | 10 | 3 | -8 |
No3 : k = 8 ======= e e
| x| -8 =71 =61 =51 -4 ] =3| -2 -1] 0|
| g(x) 1 11 0 -1 =21 =31 -4 =51 =61 -7 |
| g'(x) | <10 | -8 | =61 -4 | -2 0] 2] 4] 6|
| X 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | -8 | 9 | 8 | T 6 | 5 | 4 | 3 2 |
[ g'(x) | 8 | 10 | 12 | 14 | 1o | 18 | 20 | 22 | 24 |
77
No04=| x(1)=" — P(x)=8+/x —3,k=4
+ 7
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Diff03 for No.646126

4
d=(fx)=2x-7)") 2=(fx)=3x*+8x+8))
1
3=(f(x)=4/-3+5x) .4=(f(x)=4—J
4x +7
No0l = 1 1
S=|fx)= - .6:(f(x):—j
2t +7x+7) V4-Sx
; (5x-8)°
T=(f(x)=(5x-8) (4x-7)) .8=|f(x)= :
L (4x-17) J
No2 k = 4 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 2| 8 | 1] -10 | [ 1] -5 | 1] -6 | 4 |
| =5 | 1 | 7 2 | -8 | [ 2] -6 | 0 | -5 | 6 |
[ -4 | 0 | 6 | 3 | -6 | [ 31 7| -1 | -4 | 8 |
[ -3 | -1 | 5 | 4 | -4 | [ 4] I -2 | -3 | 10 |
[ -2 | -2 | 4 | 5 | -2 | [ 5 5 | -3 -2 | 12 |
[ -1 -3 | 3 6 | 0 | [ 6 | 4 | -4 | -1 | 14 |
[0 | -4 | 2 | 7 2 | 7 3 -5 | 0 | 16 |
No3 : k = 3 ======= s========== s==============
x| =81 =71 =61 =51 =4 -=3] -2] -1] 0|
[ g((x) | 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
lg'(x) | -71 -6 | -5 -4 1 -3 -2 1] -1/ 0 | 1|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -81 -7 -6 -5 -4 -3 1| -2 | -1/ 0 |
[ g'(x) | 2 | 3] 4 | 5 | 6 | 7 8 | 9 | 10 |
47
No0 = x(1) =" — P(x)=64x — 13, k=5
+
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4
d=(f(x)=(7x+38)) 2=(fx)=2x"+2x+5))
1
3=(f(x)=42-5x) .4:(f(x):5—J
3x =2
NoOT=1" 5 _| fx)= - .6:(f(x):—j
(22X +2x+5) 4x-7
; (5x+8)
T=(f(x)=(5x+8) (4x+5)) 8=|f(x)= ;
L (4x+5) ]
No2 k = 5 === ====== === ===
[ x| £(x) | £'(x) | g(x) | g'(x) | [ x| £(x) | £'(x) | g(x) | g'(x) |
| -6 | -3 | -8 | -2 4 | [ 1 | 4 | 6 | 5 | -3 |
| =5 | -4 | -6 | -1 3 | [ 2 3 | 8 | 6 | -4 |
| =4 | -5 | -4 | 0 | 2 [ 3 2 10 | 7 -5 |
| =3 | -6 | -2 | 1 | 1 | [ 4 | 1 | 12 | -6 | -6 |
| =2 | T 0 | 2 0 | [ 5 | 0 | 14 | -5 | =7
[ =1 | 6 | 2 3 -1 | [ 6 | -1 | 16 | -4 | -8 |
[0 | 5 | 4 | 4 | -2 | [ 7 -2 | 18 | -3 | -9 |
No3 : k = 4 ======= s========== s==============
x| =81 =71 =61 =51 -4 =3 ] -2] -1] 0|
| g(x) | 41 31 21 11 0] -11] 2] =31 -4|
lg'x) 1 81 71 61 51 41 31 21 11 0]
| x| 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 |
| gx) | =51 -6 1| =71 =81 9 | 8 | 7 6 | 5 |
l g'(x) | - | -2 | -3 | -41 -5 =61 =71 8 | -9 |
6 ¢
No04 =| x(1) =——, P(x) = 84/x — 11, k=4
5+¢
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Diff03 for No.646128

d=(fx)=(5x+7)") .2=(ﬂx):(2x?+2x+7f)

3=(f(x)=4/4-5x) .4=(ﬂx):;—}—;]
E

No0l = 1 1
S=|flx)= .6:(ﬂx): j
4
2x+2x+3) V2-3x
S (Tx+4)
T=(f(x)=(Tx+4)(-5+8x)°) .8=|flx)= -
L (-5+8x)
No?2 k = 4 === ====== === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | 4 | 4 | 4 | -16 | [ 11 -3 | -3 -3 | -2 |
[ =5 | 3 3 5 | -14 | [ 2] -4 | -4 | -2 | 0 |
[ -4 | 2 | 2 | 6 | -12 | [ 3 -5 | -5 | -1 | 2 |
[ =3 1 1| 1| 7 -10 | [ 4 ] -6 | -6 | 0 | 4 |
| -2 | 0 | 0 | -6 | -8 | [ 5 | 7 =7 | 1] 6 |
[ -1 1 -1 | -1 | -5 | -6 | [ 6 ] 6 | -8 | 2 | 8 |
[ 0| -2 | -2 | -4 | -4 | [ 7 5 | -9 | 3 | 10 |
No3 : k = 3 ======= e e
| x| -8 =71 =61 =51 -4] -3| -2 -1] 0|
| g | 21 31 41 51 61 71 81 9] -8|
lg'(x) | 141 121 101 81 61 41 21 0] -2 |
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
| gx) | -71 -6 | -5 -4 1 -3 -2 1] -1/ 0 | 1|
[ g'(x) | -4 | -6 | -8 | =10 | =12 | =14 | -16 | =18 | =20 |
77
No04 =| x(1) ==, P(x) = 24/x - 13, k=5
2+t
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Diff03 for No.646129

d=(f(x)=(7x+3)) .2=(ﬂx)=(3x?+7x—7f)

3=(flx)=42x-3) .4=(ﬂx)=——%——]
8x +7

No0I = 1 1
S=|fx)= .6:(ﬂx):——————j
5
(2 +2x+3) V4-3Sx
A (7x—4)*
T=(f(x)=(7x-4)"(-3+5x)) .8=|f(x)= "
L (=3+5x)
No2 : k = 3 === ====== === ===
[ x| f(x) | £'(x) | g(x) | g'(x) | [ x| f£(x) | £'(x) | g(x) | g'(x) |
| -6 | 1| -16 | 1| 8 | [ 11 -6 | -2 -6 | 1|
[ =51 0 | -14 | 2 | 7| [ 2] 7| 0 | -5 | 0 |
[ -4 | -1 | -12 | 3 | 6 | [ 31 6 | 2 | -4 | -1 |
[ -3 | -2 | -10 | 4 | 5 | [ 4] 5 | 4 | -3 | -2 |
| =2 | -3 | -8 | 5 ] 4 | | 5 ] 4 | 6 | -2 | -3 |
[ -1 -4 | -6 | 6 | 3 [ 6 | 3 8 | -1 | -4 |
[0 | -5 | -4 | 7 2 | 7 2 | 10 | 0 | -5 |
No3 k = 7 ======= =========== ===============
| x | -8 -7 -6 -5 -4 -3 | -21 -1/ 0 |
[ g((x) | 0 | 1| 2 3 4 | 5 6 | T 8 |
| g'(x) | =14 | =12 | =10 | -8 | -6 | -4 | =2 | 0 | 2|
| x| 1 2 | 3 4 | 5 | 6 | 7 8 | 9 |
[ g((x) | 1 -8 | -7 -6 -5 -4 ] -3 | -2 | -1 |
[ g'(x) | 4 | o | 8 | 10 | 12 | 14 | 16 | 18 | 20 |
67
No04 = xu)=2+ﬁ,mx)=2J_—1k=3
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Diff03 for No.646130

I=(fx)=(7Tx-4)'") .2:(f(x):(2x4+2x+11)4)

3= (flx)=4/-5+8x) .4=(f(x)=57—14J
o

No0I = 1 1
5= f(x)= .6:(f(x):—j
3
2P +2x+7) V2-Tx
. (7Tx+4)
T=(fx)=(Tx+4Y (6x=5))  .8=|f(x)= ;
L (6x-5) J
No2 : k = 3 === e === ===
[ x| f£(x) | £'(x) | gx) | g'"(x) | [ x| f£(x) | £'(x) | gx) | g"(x) |
| -6 | 1] -6 | 1] 12 | [ 1 ] -6 | 1] -6 | -2 |
[ =5 | 0 | -5 | 2 | 10 | [ 2] T 2 -5 | -4 |
[ -4 | -1 | -4 | 3 8 | [ 3 6 | 3 -4 | -6
[ =3 1 -2 | -3 | 4 | 6 | [ 4 ] 5 | 4 | -3 | -8 |
[ -2 -3 | -2 | 5 | 4 | [ 5] 4 | 5 | -2 | -10 |
[ -1 1 -4 | -1 | 6 | 2 | [ 6 ] 3 6 | -1 | -12 |
[ 0| -5 | 0 | 7 0 | [ 7 2 | 7 0 | -14 |
No3 : k = 3 ======= e e
| x | =81 =71 -6 -5 -4 =31 =21 -1/ 0 |
| ogx) | -1 1 -2 | -3 | -4 -5 -6 =71 =81 9 |
[ g'(x) | 12 | 10 | 8 | 6 | 4 | 2 or -2 1 -4 |
| X 1| 2 3 4 | 5 | 6 | 7 8 | 9 |
[ g(x) | 8 | 7 6 | 5 | 4 | 3 2 | 1| 0 |
[ g'(x) | -6 | -8 | =10 | -12 | -14 | -16 -18 | =20 | =22 |
7¢
No04 =| x(1) ==, P(x) =44/x = 11,k=5
2+t
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